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External dimensions 1

FM20

Absolute Maximum Ratings

Electrical Characteristics

(Ta=25°C) (Ta=25°C)
Symbol Ratings Unit Symbol - Ratings Unit Conditions
min typ max
VDsS 150 Vv V(BR)DSS 150 \Y Ip = 100pA, Ves =0V
| +100 nA Vs = +20V, -10V
Vess +20, -10 v ess s
IDSS 100 HA Vps = 150V, Ves =0V
Ip +12 A VTH 1.0 2.0 v VDs = 10V, Ip = 250pA
ID (pulse) *1 +48 A Re (yfs) 6 11 S Vps = 10V, Ip=6A
150 200 Vs =10V, Ip=6A
Pp 30 (Tc = 25°C) w RDS (on) mo s D
> 170 230 Ves=4V, Ibp=6A
*
Ens 100 mJ Ciss 870 pF o =10
Vbs =10V, f=1.0MHz
Coss 320 F ' '
IAs 12 A p Ves =0V
Tch 150 oc Crss 210 pF
td(on) 20 ns
- o = =
Tstg 55 to +150 C tr 50 ns ::I; _GlAZ,QVDVD —73\(/)\/
*1: Pw=100ps, duty cycle=1% td(off) 85 ns S(I;e_Figur’e ZGoSn_Page’S
*2: Vpp=25V, L=1.2mH, IL=12A, unclamped, R =50Q, t 40 ns :
See Figure 1 on Page 5.
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